Honors Pre-Calculus - Uni 2‘%
Unit 5 Review 4
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" . in and range of
Create an x-y table to sketch the graph of the function. Then identify the domain a nge of
each.
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Find the total value of the investment after the time given.
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11) Use the compound interest formula, 4 = P(l + 1) . to find the total amount if $25,700 in
n - fiesies el

invested at an interest rate of 4% and ded daily for 5 years.
invested at an interest rate o 4% adcen SR my,o;%ym iid
BOSeS. i
A= a5t (It %) :
1835
85,700 (l.000IN)
25,%0(,558%)

12) Use the continuous compoun! ing lormula, A

at an interest rate of 6.6% and compounded
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Rewrite each equation in exponential form.

13) log, 15 = e
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15) log n=20
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Rewrite each equation in logarithmic form.
17) v* =107
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19) 10" = 107

LoG Yemliz Y

Use a calculator to approximate each to the nearest thousa)

21) log 38
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23) log, 3.95
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Expand each logarithm.
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